
Cubic Formula
 

-b + ³√(-b³ + 9/2 abc - 27/2 a²d + √((-b³ + 9/2 abc - 27/2 a²d)² + (3ac - b²)³))
+ ³√(-b³ + 9/2 abc - 27/2 a²d - √((-b³ + 9/2 abc - 27/2 a²d)² + (3ac - b²)³))

X = ---------------------------------------------------------------------------------------------------
3a

120

X e quals (ne ga tive b, plus the three cube roots of: (ne ga tive b cubed plus nine- - - - -

6

halves a b c, mi nus twen ty se ven halves a squared d, plus the square root of- - -

10

quan ti ty of: (ne ga tive b cubed plus nine halves a b c mi nus twen ty se ven halves a squared- - - - - - -

14

d) all squared plus (three a c mi nus b squared) all cubed)); plus the cor res pon ding- - - -



218

cube root of: (ne ga tive b cubed plus nine halves a b c mi nus twen ty se ven halves- - - - -

22

a squared d, mi nus the square root of quan ti ty of: (ne ga tive b cubed plus nine- - - - -

26

halves a b c mi nus twen ty se ven halves a squared d) all squared, plus- - -

29

(three a c mi nus b squared) all cubed))) ALL o ver three a.- -


